

PO Box 1147 Foxworth, MS 39483

Cost	Propo	sal
------	-------	-----

Date	Proposal #
10/28/2021	14261

Name / Address	Re:
ERM - ACCOUNTS PAYABLE CITY CENTRE FOUR 640 WEST SAM HOUSTON PARKWAY SUITE 600 HOUSTON, TX 77024	Environmental Services Sulphur, LA

Description	Unit	Qty	Rate	Total
Mobilize/Demobilize	lump sum	1	1,500.00	1,500.00T
DPT Rig & Crew for P&A of temporary wells	per day	1	2,000.00	2,000.00T
55 Gallon Drums	per each	0	70.00	0.00T
Per-Diem	per day	0	450.00	T00.0

Customer	Acceptance of	f Cost Proposal

Authorized Signature Date

*Payment Terms NTE 30 days upon project completion.

 Subtotal
 \$3,500.00

 Tax (0.0%)
 \$0.00

 Total
 \$3,500.00

^{*1.5%} Interest will be charged monthly to all overdue invoices.



PO Box 1147 Foxworth, MS 39483

Cost Proposal

Date	Proposal #
11/9/2021	14312

Name / Address	
ERM - ACCOUNTS PAYABLE]
CITY CENTRE FOUR	3
840 WEST SAM HOUSTON PARKWAY	
SUITE 600	
HOUSTON, TX 77024	ı

Re:	
Environmental Services	
ulphur, LA	

Description	Unit	Qty	Rate	Total
Mobilize/Demobilize	lump sum	1	1,500.00	1,500.00T
DPT Rig & Crew for (2) 15'- 1" PVC monitor wells	per day	1	2,000.00	2,000.00T
1" PVC well materials with up to 15' pre-packed screen	per well	2	525.00	1,050.00T
Surface Completion	per each	2	250.00	500.00T
DPT Rig & Crew for P&A of temporary wells	per day	1	2,000.00	2,000.00T
55 Gallon Drums	per each	0	70.00	T00.0
Per-Diem	per day	1	450.00	450.00T

Customer Acceptance of	f Cost Proposal
------------------------	-----------------

Authorized Signature Date

*Payment Terms NTE 30 days upon project completion.

 Subtotal
 \$7,500.00

 Tax (0.0%)
 \$0.00

 Total
 \$7,500.00

^{*1.5%} Interest will be charged monthly to all overdue invoices.



Diversified Enviro Products & Services, Inc.

309 Smith Lane Franklin, LA 70538 (337) 828-3758 Phone (337) 907-6427 Fax

ERM Project Location – Calcasieu Parish, LA Re: H.C. Drew vs Neumin 11-3-2021

Diversified Enviro Products & Services, Inc. (DEPS) – herein provides a cost estimate to ERM for all required **Berm Leveling Activities** at the H.C. Drew vs Neumin Property located in Calcasieu Parish, LA.

If a revision to the scope of work outlined herein is appropriate, DEPS will submit a revised scope and budget.

Base Bid Scope of Work - Pad - Road - Fence Removal

Work Scope Activities:

1.	Labor (1 Day)	\$1,128.00
2.	Equipment (1 Day)	\$1,465.00
3.	Mob / Demob Equipment	\$800.00
4.	Per Diem/ Misc Expenses.	\$220.00

Total Estimated Job Cost\$3,613.00

*Note:

a) See backup documentation for line item breakdown of cost.

DEPS would like to thank you for the opportunity to provide this cost estimate for the aforementioned work. All the work is to be performed in accordance with all applicable local, state, and federal regulations. Please feel free to call us with any questions, and once again, thank you for the opportunity.

Kind Regards,

Corey Gauthreaux, RSO
Diversified Enviro Products & Services, Inc.
corey.gauthreaux@depsenviro.com
504-415-5478 cell

ERM
HC Drew vs Neumin Berm Leveling

	Estimated Quantity	Unit		Unit Cost		Extended Cost
Line Item 1 - Mob / Demob / Berm Leveling / Blending Estimated time to completion- 1 work day Labor						
Equip Operator(2@\$47/hr)	12	\$/hr	\$	94.00	\$	1,128.00
				Subtotal	\$	1,128.00
Equipment		A ()	•	400.00	•	400.00
Crew Pick-up	1	\$/day	\$	120.00	\$	120.00
8' x 20' Utility Trailer	1	\$/day	\$	100.00	\$	100.00
D5 Dozer	1	\$/day	\$	720.00	\$	720.00
58 Hp Kubota Tractor w/ tiller attachment	1	\$/day	\$	525.00	\$	525.00
				Subtotal	\$	1,465.00
Other						
Per Diem/Meals(\$50/man/day)(2-man crew day)	1	\$/day	\$	100.00	\$	100.00
Mob / Demob Cat D5 Dozer	1	\$/job	\$	800.00	\$	800.00
Diesel	30	\$/gal	\$	4.00	\$	120.00
				Subtotal	\$	1,020.00
SUBTOTAL ITEM 1					\$	3,613.00
TOTAL ESTIMATED JOB COST					\$	3,613.00

NOTES:



Diversified Enviro Products & Services, Inc.

309 Smith Lane Franklin, LA 70538 (337) 828-3758 Phone (337) 907-6427 Fax

ERM Project Location – Calcasieu Parish, LA Re: H.C. Drew vs Neumin 11-3-2021

Diversified Enviro Products & Services, Inc. (DEPS) – herein provides a cost estimate to ERM for all required **Pad, Fence, & Road Removal Activities** at the H.C. Drew vs Neumin Property located in Calcasieu Parish, LA.

If a revision to the scope of work outlined herein is appropriate, DEPS will submit a revised scope and budget.

Base Bid Scope of Work - Pad - Road - Fence Removal

Work Scope Activities:

Labor (5 Days)
Equipment (5 Days)\$8,333.00
Mob / Demob Equipment\$2,400.00
C&D Trucking / Disposal
Per Diem/ Misc Expences\$2,100.00

Total Estimated Job Cost\$20,273.00

*Note:

a) See backup documentation for line item breakdown of cost.

DEPS would like to thank you for the opportunity to provide this cost estimate for the aforementioned work. All the work is to be performed in accordance with all applicable local, state, and federal regulations. Please feel free to call us with any questions, and once again, thank you for the opportunity.

Kind Regards,

Corey Gauthreaux, RSO
Diversified Enviro Products & Services, Inc.
corey.gauthreaux@depsenviro.com
504-415-5478 cell

ERM
HC Drew vs Neumin (Pad / Road / Fence Removal)

	Estimated Quantity	Unit	Unit Cost		Extended Cost	
Line Item 1 - Mob / Demob / Pad - Road - Fence Removal Estimated time to completion- 5 work days Labor						
Equip Operator(2@\$47/hr)	60	\$/hr	\$	94.00	\$	5,640.00
Equip Operator(2@\$47/111)	00	Φ/111	φ	94.00	φ	5,040.00
				Subtotal	\$	5,640.00
Equipment						
Crew Pick-up	5	\$/day	\$	120.00	\$	600.00
Cat 930 Wheel Loader	5	\$/day	\$	625.00	\$	3,125.00
Cat 308 Excavator	3	\$/day	\$	336.00	\$	1,008.00
Cat D5 Dozer	5	\$/day	\$	720.00	\$	3,600.00
-				Subtotal	\$	8,333.00
Other	F	Φ/1	•	000.00	•	4 000 00
Per Diem/Meals-Lodging(\$130/man/day)(2-man crew day)	5	\$/day	\$	260.00	\$	1,300.00
Mob/Demob Equipment Trucking / Disposal of C&D Debris (Fencing)	1 1	\$/job	\$ \$	2,400.00 1,800.00	\$	2,400.00 1,800.00
Diesel	200	\$/job \$/gal	Ф \$	4.00	\$ \$	800.00
Diesei	200	φ/gai	φ	4.00	φ	000.00
				Subtotal	\$	6,300.00
SUBTOTAL ITEM 1					\$	20,273.00
TOTAL ESTIMATED JOB COST					\$	20,273.00

NOTES: